MTH 111 Chapter 1 Graded Homework
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58. (@ A finished product consists of four components that will be assembled and packaged for
t. The box
the appropriate strength cardboard is used. What is the product weight? (1 1b = 16 oz)

turer has requested the total product weight be on the drawing so that

Part Weight each
1 1
350z
2
? 33k o
8
3 6ib
4 1
10 oz
3

142 23
4 0z

Or just shy of 9 pounds.

1.7 #80

3 5 5
80. 3 A home is built on a 653-ft-wide lot. The house Is 5 ft from one side of the lotand is 435 ft

P

Illustration 11

16 ft
2f
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1.8 #20
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1.8 #68

68. [N I L&* of cotton welighs 2'.‘% 1b, how many cubic feet are contained in a bale of cotton weighing

500 Ib? In 15 tons of cotton?

2223
? 1
1,333t

1.10 #8
8.1461
Eight and one thousand

four hundred sixty-one ten-
thousandths

1.10 #14
Five hundred sixty-three millionths

0.000563

1.10 #48

0.0056+0.023-0.00456+0.9005

0.92456

1.11 #30
4 significant digits:
23.2347

23.23

1.11#34
3 significant digits
0.00118952

0.00119

1.12 #18

3 sig figs

18 (16.5)(1.95)(12.4) + (6.3)(0.75)
" (125)(0.05) — (0.15)(4.7)

72.8

1.12 #22

2 +(2+3-6)
(2-5-4)+3.5

8

1.12 #42

42, [F] A garage service manager has authorized $595 to be spent on overtime to complete a job. If the
overtime pay is $29.75/h, how many hours of overtime were authorized?

20 hours

1.12 #70

70. (@ One U.S. bushel contains 1.2445 ft*. A silo that has a capacity of 10,240t can store how many
bushels of com? Round to the nearest bushel.

8228 bushels

1.14 #14

14. The number 2040 is 7.5% of what number?

27,200

1.14 # 22

22. [f] A customer wants to buy four tires that cost $159.95 each. There is a sales tax of 7.5% on the tires

plus an EPA fee of $2.50 for each tire and a disposal fee of $3.69 for each tire. What is the total bill?

$178.14

1.15#5
3 sig figs:
0.002572

0.00000660 or 6.60x10°

1.15 #16
3 sig figs

112,500

112




